Further Practices


Further Practice 3.1A
Basic

(a)
What fraction of 50 cm is 22 cm?
(b)
What fraction of 4 m is 80 cm?
(c)
What fraction of 5 minutes is 25 seconds?

1. There are 5 pencils, 3 erasers and 7 pens in Azmi’s pencil case. What fraction of the stationery are pencils?
Intermediate

2. After spending $4, Mahmud finds that he has 
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 of his pocket money left. How much pocket money did he have at first?
3. 
[image: image2.emf]








4

11

 of the marbles in a bag are blue. The rest are red. There are 21 fewer blue marbles than red marbles. How many marbles are there in the bag?
Challenging

4. Bahrin bought 
[image: image3.emf]oo | i









5

8

 of 64 toy cars at $3 each. He bought the rest of the toy cars at $2.50 each. How much did Bahrin spend in all?
Further Practice 3.1B

Basic

1. Evaluate the following without the use of a calculator.

(a)
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(b)
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(c)
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(d)
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2. Evaluate the following without the use of a calculator.

(a)
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(b)
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Intermediate

3. Evaluate the following without the use of a calculator.

(a)
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(b)
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4. Evaluate the following without the use of a calculator.

(a)
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(b)
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Challenging

5. David, Eddy and Farid have some stamps. David has 
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 of the total number of stamps. Eddy has twice as many stamps as Farid. If there are 120 stamps in all, how many more stamps does David have than Eddy?

Further Practice 3.2A
Basic

1. State the place value of the specified digit.

(a)
7 in 1.723


(b)
4 in 4.052



(c)
3 in 62.013

(d)
0 in 42.509

2. Compare the following decimals and write ‘<’ or ‘>’ in the blank.

(a)
–9.25 _____ 0.002



(b)
0.008 _____ 0.01

(c)
4.352 _____4.253

Intermediate

3. Write the following numbers in descending order.


92.49, 9.249, 42.99, 29.94, 29.49, 2.499

4. Write the following numbers in ascending order.


0.35, 0.53, 0.035, 0.503, 0.335, 0.353

Challenging

5. Write the following numbers in words.

(a)
427.1
(b)
29.32

(c)
1.298

Further Practice 3.2B

Basic

1. Convert the following fractions into decimals.

(a)
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(b)
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(d)
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2. Convert the following decimals into fractions.

(a)
0.52





(b)
0.125

 (c)
1.73





(d)
5.45

Intermediate

3. Compare the following numbers and write ‘<’, ‘=’ or ‘>’ in the 
blanks provided.

(a)
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(b)
1.007 _____ 1.070

(c)
5.48 _____ 
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4. Mrs Muthu bought a cake. She gave Ravi 0.3 of the cake and Meena 
[image: image22.emf]o | W









 

3

8

 of the cake. Who received a bigger portion of the cake?

Challenging

5. Rearrange the following numbers in descending order.


7.125, 
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, 7.52, 
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Further Practice 3.2C

Basic

1. Evaluate the following.

(a)
4.7 – 2.6 + 3.45

(b)
3.8 + 4.2 ÷ 0.5



(c)
5.2 ÷ 2.5 × 9.5 

2. Ron had $5.20. He spent $1.30. Then, he divided the remainder equally between his two brothers. How much did each brother receive?

Intermediate

3. Evaluate the following without the use of a calculator.

(a)
4.73 + 3.52 × 1.2 ÷ 2.4

(b)
2.8 ÷ (4.5 – 3.87)


(c)
(4.25 + 2.12) × (3.8 – 1.2)

4. Shop A sells erasers in packs of 5 at $2.30 per packet. Shop B sells erasers in packs of 4 at $1.65 per packet.

(a)
If Rayna has $10, find the number of erasers she can buy from 


(i)
  Shop A,


(ii)
  Shop B.

(b)
Which shop can Rayna buys 40 erasers with the least amount of 


money? How much less would she spend?
Challenging

5. 7 bricks, 4 spades and 5 buckets weigh 23.95 kg. Each bucket weighs 0.33 kg lighter than a brick. Each brick weighs half the mass of a spade. Find the mass of a brick, a spade and a bucket. Give your answer in kilograms.
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